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Choose the correct answer :

26.

27.

28.

29.

TRIS IS ..ovvvve- Apple.

a) @ b) an

c) the d) none of them

«Deer” is a wild animal -----

a) True by Fabse

¢) Both d)  None of these

........................... month has 28 days’

a)  January b) July o) February ) March

Ram ...........- a good student.

a)  Am b) is ¢) are J) none
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30. AbirdlivesIna ..o

a) Nest b) Den ¢) Kennel d) Burrow
31. How many players play in Kabaddi team?
a) 6 b)) 7 ¢) 8§ d) Il
32.  Opposite of dark : |
a) New b) Late ¢) Slow d) Light
33 Cowgiveus.... ... . ?
a)  Wool b) Honey c) Eggs d) Milk
3. “He"is.............
a)  Noun b) Model ¢) Pronoun d) Verb
35. We can see wild animals closely at -
a)  Garden b) Zoo- ¢) Park d) Home
36.  Iamtiny, I like Sugar, I live under the ground
a) Bee b) Ant ¢) Butterfly d) Earth worm
37.  What is the adverb of Slow
a)  Slowly b) Slowsome «¢) Slower d) Slowest
38. has turned on the television.
a) Who b) How ¢) When d) Why
39.  Cactus is found-in
a)  Desert b) Water ¢) River d) Roads |
40.  Word 'Black' matches with
a) Hair b) Nose ¢)  Nails d) Teeth
41.  Sheepgiveus.......... ?
a)  Wool b) Honey c) Milk d) Eggs
42. What comes before Monday?
a)  Thursday b) Friday ¢)  Saturday d) Sunday
43. Acamelhasa........... . .
a)  Hump b) web c) shell d) hard
44.  Plural number of “tooth” is
a)  Tith b) Teth ¢) Teeth d) Teith
45.  The correct antonym of “far” is
a)  Bottom b) Oven ¢) Near d) Youn
46.  AnOctopus has ... .. arms :

a)  Five b) Eight ¢) Six d) Nine
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who Swims?

a) Cow b) Fish c) Birds d) Monkey
Rohan walked for ........ each day to go to school

a) a time b) an hour c) away d) aline
The water of the fountain was as coldas .........

a) Ice b) Sam c)  shark d) weather
Iworkina ............. . I am a doctor

a) Supper marketb) School ¢) Hospital d) Hotel
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1000 BT YEad! AT ¢ |

a) 1001 b) 999 c) 1100 d) 991
The number perceding 100 is
a) 1001 b) 999 ¢) 1100 d) 991

Wa‘?mﬁi%@os%@%uﬁw%@ﬁmzsﬁimﬁim%,a\
gt S SHd TR H g fran g ¥4 g

a) 11.625 f&a. b) 10625 T

c) 11526 fbI. d) 10526 fHAL

Ramesh house has 5 boxes full of wheat in his house, if 2.325 kg of wheat
is kept in a box then tell how much wheat is kept in his house

a) 11625 kg b) 10625 kg

¢) 11526 kg d) 10526 kg

900 TS ¥ foram e & |

a) 14 by 157 ¢ 16 d) 13

How many minutes will be in 900 seconds

a) 14 b) 15 C) 16 d 13
Wéaaaﬁmzséﬁf%aﬁ?%ﬁ@s‘zoﬂﬁ%ﬁmmm
BT | |

a) 525 97 WA b) 500 & WA

c) 400 T YA d) 450 CUESR!



The length of a table is 25 cm and breadth 20 ¢cm then the area of the table
18

a) 525c¢m?>  b) 500 cm’  ¢) 400 cm? d) 450 cm?
. UTfie srer SRIURT ® SR B Ben 1 W 5 ad gedl @ Sufderfa sae
15, 17, 15,14 3R 19 o 1 Fem ¥ 3N SuRerfy @ o |
a) 15 b) 16 C) 17 d) 18
In Primary school Darrapara on Tuesday the attendance of children from

class 1 to 5 was 15, 17, 15, 14 and 19 what is the average attendance in a
class.

a) 15 b) 16 c) 17 d)y 18
56.  0.900 &1 =1 wY &R |

a) 1/9v b)) 9/10 ¢) 9/10 d) 900/ 1000
Fraction form of 0.900 will be

a) 1/9 b) 9/10 ¢) 90/100 d) 900/ 1000
57.. A9 &1 9= fofdr 28 SE) 1996 2, 30 RaawR 2005 B SHHT U el
BT |
) 9998 HE 2 fen b) ody7 HE4 A
c) 9946 HAE4fHA d 9dv¥s5HE3 A
Poonam's date of birth is 28 jan 1996 what will be her age as on 30 sep
2005
a) 9 years 8 month 2 day b) 9 years 7 month 4 days
c) 9 years 6 month 4 day d) 9 years 5 month 3 day
58. 645 x 273 = ? |8 SR gy
a) 176065 b) 176075 C) 176083 d) 176085

645 x 273 =7 Choose the correct answer

a) 176065 b) 176075 c) 176083 d)
59. W SR R AR O GHE TS @ 2, peard

d) @ b)) Ags ¢ o d) @

A figure whose four sides are of equal length is called?
a)  Triangle b) Quadrilateral c) Square d) Angle
60. B Ip! B WA IS G WK B B T BIE FE@ BT AT 2y —

a) 4999999  b) 3999999 ¢) 39999999  d)

176085

1999999 |
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um of the largest six digit number and smallest seven digit number will be

a) 4999999  b) 3999999  ¢) 39999999 d) 1999999
ol. 1 gver 20 AHe = ?
@) 80 fFe by 77 fEe o e9fimc ) 8 frre
1 hour 20 minutes is = ?
o :_éx .Rpi_"r ';:::rq;_o{b;hﬂ ?77 min  ¢)  89min d) 81 min
a) ;% b) 11—05 c) %g i d) 1—(1)
The product of %X 2 will be ?
) = b = o o d =
63. 76.5-45.6 = ? (W& ITR FaARN)
a) ~ 159 b) 20.9 c) 30.9 d) 409
76.5—-45.6 = (Select the correct answer)
a) 15.9 b) 20.9 c) 30.9 d) 409
64. 652 X 8 = ..o ? (e STR )
a) 5217 b) 5218 ') 5216 d) 5219
652 X 8 T e ? (Select the correct answer)
a) 5217 b) 5218 'C) 5216 d) 5219
5. 1,4, 9 16 e T STl 3 BITT?
a) 27 by 20 c) 37 d) 25
Next digit of 1, 4, 9,16 ..cccuininennn will be?
a) 27 by 20 c) 37 d 25
4 g5 DA BT GI 120’ &R & T T Bl BT ed BT
a) @300 b 350 c) . 280 d . 200
. The value of 4 dozen bananas is Rs 120, then find the value of one banana
a) Rs3.00 b) Rs3.50 ¢) Rs 2.50 d) Rs2.00
gorq dfg yrapa G (1, 2. 3. 4 5) a1 T &
. 3

a) 15 b) 5

C) 7.5 d)
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The value o 273 s .
1 1 = d -3
S b 1 g
0.6 T TRATH w0 garga)?
4 3 e d =
a) : b) s ©) 3
Wwhat is the simplest form of 0.6 —
4 3 8 d -
a) B b) B C) 5 )
90° ATel BT Y prgy §
) YA Py b) fE BT
9 W d &g B
The angle of 90° is said to
a) Acute angle b) Obtuse angle
c) Right angle d) Straight angle
750 UTH BT A fHaram § gn
a) 0.75 - b) 75 c) 75 d) 7500
The value of 750 grams in Kilogram will be-
a) 0.75 b) 1.5 C) 75 d) 7500
W;ﬁﬁzsaﬁwqﬁm%,waﬁ@g;ﬁﬁﬁmﬁsﬁawm
a) 250 b) 260 C) 220 d) 225
A drum contains 25 liters of water. How many liters of water will be in s
9 drums
a) 250 b) 260 C)
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TP SR AT BT Aol 48 AR ¥ AR IED A 8 Hew @
AT P 9IS FqT BRRY

a) 6#R b)) sM ¢ 4 d) 9HX

The area of rectangular field is 48 square meter, and the breadth is 8 meter.
What is the length of rectangular field?

a) 6 meter  b) 8 meter  c¢) 4meter  d) 9 meter
4 Hex o7 a7 HT RO BI?

a) 16 b) 32 c) 20 d) 64

The perimeter of square of a side 4 meter will be?

a) 16 b) 32 o 20 d) 64

8 3R 12 BT HewH GHYAID 87

a) 2 b) 3 c) 4 d 5

What is the greatest common factor of 8 and 12?

a) 2 b) 3 c) 4 d) 5
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forg Sfig @ ¥R WR BHicT B AR BT &

a) ®Z3M  b) FTWRAD c) dm@l d) |

Which organism has a cover of Thorny Skin
a)  Tortoise D) Crocodile ¢) Procupine ~ d)  Snake

Tt g&7 A Freert arel X P FEd T

a) R b) Ul ¢) dR d ¥R
The juice coming out of the Sal tree is called

a) Resin - b) Water c¢) Taar d) Jhar
FIEd T e FEarl &

a)  ®aoll IS b) WA W

¢)  Sv4a | d @ T

Elbow Joint is called

a)  Cabture Joint/Hinge Joint b) Easy joint

c)  Urforce joint d) none of these

mﬁmﬂzﬁrmwmﬁﬁ%%
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Steel Factory is located in Chhattisgarh | .
a) Bhilai b) Koriya ¢) Gariaband d) Balod

AR Rig @1 sfera e 39 e 2|

a) 30 S b) 27 BRAQ ) 10 RRgmR d) 26 99

Veernarayan Singh's sacrifice day is celebrated on

88.
a) 30" January b) 27" Febuary
c) 10® December d) 26™ January
U & BT BT AR I 2| _
a)  WTSTS  b) TRl ¢) g d) ®E T8 89.
The famous dance of the farmers of Punjab is
a) Bhangra~ b) Garba c) Sua d) None of these
RIS T &1 31afyy fpae |
a) 50 ¥BTE b) 52 JBTE  ¢) 51 FBVS d) 49 VTS
What is the time duration of National Anthem? ]t
a) 50 Secondb) 52 Second ¢) 51 Second d) 49 Second
BTG &7 B Gell B1F |1 32

a)  WR b) WA ¢) AR d) LR
Which is the state bird of Chhattisgarh? _
a) Peacock- b) HillMyna ¢) Sparrow d) Pigeon
fevoT 5 waR ot ol 22 |
a) HEEN b) waEr ) Woidl  d) IHEN
What type of animal is Deer?
a)  Non Vegetarian b) Omnivorous
c)  Parasites d) Vegetarian
SR B H 5 THR B HoTf ST STAT Brar 27
a)  U99 Sl b) AN Sl c) TR ot d) |R Tt
What type of energy is used in a solar cooker?
a) Wind energy

C) Thermal energy
A4 IRR BT GH TYHH BT 32—

b) tidal energy
d) Solar energy

a) 40°C b) 37°C c) 32°C d) 26°C
Normal temperature of human body —
a) 40°C b) 37°C c) 32°C d) 26°C
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gEuy # fhas 91 8 87

a) 5 b) 6 c) 7 d 8

How many colours are there in the Rainbow?

) 5 b 6 ¢) 7 d) 8

@ fAdere gas gl dal Ryd &7 |

a) ﬁ_@ﬁ b) TwE ¢) YR d) @radha
Swami Vivekanand airport is located at

a)  Delhi b) Mumbai Rai

1_ 7 ¢) Raipur d) Kolkata

2) WA T B aC W b) AR @ 7€ R
¢) P 98 & dc ® d) =l $ dC W

Talagaon is located

a) On the bank of Maniyari river
c¢) On the bank of Shivnath river
ST X159 P AT e &7

a) 1 FGeR 2001
c) 1 STFCAX 2002

b) On the bank of Mahandi river
d) On the bank of Indrawati river

b) 1 fawaR 2002
d) 1 Td8x 2000

When did the Chhattishgarh state establish?

a) 15t November 2001
C) 1t October 2002

aRa < fe BT A B &7 )
a) el pres @ b)"mm@.
o  gfva Her kil d) T P T
The cause of disease malaria is? | |
a) Fly bite b)” Mosquito bite
C) Contaminated Food d) None of these }
gy g forT qferdt @iet § 99 Tl ©
) @™ D) gIEN ¢ A d)

that turns leaves into Thorns. |
gplantRoEsle.,‘ p) Lemon ¢) Cactus d) Acacia
o HTARA g7
a) @@iE b I o) W i d) T
What is Vandemataram ?
a) Folk song b) Holy song

d) National Anthem

C) National song

b) 1 December 2002
d) 1% November 2000




94.

95\

96.

97.

98.

99.
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8) S ool A AN b) goe-—smwe— T

C)  YHAT-Soul—INTS—HTBR d) geeh—ogaT—3TTS—HEN |
Which of the following sequence is correct for the life cycle of mosqu'lto?
a) Eggs- Worm-pupa-mosquito  b) Worm- eggs- pupa-mosqln.to

¢y Pupa- worm-eggs- mosquito d) worm- pupa- eggs- mosquito l

TR W H ey oy 2

a) 27 b) 28 c) 29 d) 30

How many states are in our country ?

a) 27 b) 28 ) 29 d)y 30

T 9 aohfwr & forg diT @1 grer el @1 7T FEY &

a) 9 b) HeEwEd c) @xarer  d) HgARI
Out of these what do we call the one who keeps snakes for livelihood?
a) snake charmer b) mahout

C) shepherd d) fisherman

fa @ & sarer e ferar 22

a)  99q @ b) wEft® /AT @rdn

C) I @ d) amadt @

Which account earns more interest?

a) Savings account b) Fixed deposit

C) Current account d) Recurring account ,
frerrs wrex & Rerg “Hfi—arr f6e &1 29 & frmar @1 wdie 27

a)  IARGHI—RA b) E—WRd

¢)  SUM-YRd d) A —rRa

“Maitri Bagh” located in Bhilai city is a symbol of friendship between whi
two countries ?

a) USA- India b) Russia- India

¢)  Japan- India d) China- India

WHO &T X1 91 41 87

a)  fdvg ysw Wreq .. b) fIvawemRY frg=mr

o) g w@rey weT d) fvg aRar frasor wreq
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What is the full name of WHO?
a) World AIDS organization
b) World pendemic control

c) World Health organization

d) World family control organization

R 7l fFa Rrar § Reg 272

a) SIS EICUIE] b) 9T

) g d) AR

In which district is the “Siyadevi” temple located?
a) Rajnandgaon b) Balod
C) Durg d) Raipur
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